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a)l’l tS a)l’l
M, % t,
tS
M, % & é t,
£=4/2/2=0.707 < e
1 r(t) =1(t)
1 K=200
2 K=1500 K=13.5
R(S) -5 C(s) .
_’?__’ K s(s +34.5) >
1 K=200 |

G, (s) =5K/s(s +34.5)
d(s) = 5K/(s* +34.55 + 5K)
@, =~+5K =+/1000 =31.6 rad /s

£=345/20, =0.545

t)=7/o, =xo1-E =0.12s M, % =e " x100% = 13%
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t, =3/, =0.17s
K=1500 K=13.5

t, =4/éw, =0.23s
2
K =1500

£=0.2,0, =86.2(rad/s)

K=13.5
&=2.1,m, =8.22(rad/s)

t, =0.037s,M, =52.7%,t, =0.17s T, =0.5s,T, =0.055, T, >> T, t, =3T, =1.46s
KT»éd>M T KiséeToMm |
—>t,t, ¥ —>t,t, T
2
|
eeeeee 3
1 3
3 2
D (s) = — s 2
s+ 2w s+ o
1</
c(t )—c(oo — T2
M %= S =00 = 473 100% = 33% = ¢ T x100%
c(0) 3
2
t,=0.1(s) = 7/ w, 1= &
3306 .72
=033 @ =332(rad/s D (s) =
d " (rad/s) (8)= 50 11102 4
3: 15% 0.8s K,
Kf Kl Kf
¢ Hs) K Cis)
3 — 1 -
M, %=¢ J§x100%=15%:> ¢=0517 s ss + )
- o, =4.588
t,=7/o1-& =08 L4E,s f—
D(s) =K, /[s* +(1+K,K,)s +K,]
o} =K, 2é0, =1+K K, =K, =21.05,K, =0.178
K, =21.05,K, =0.178
(="~ F o3
a)n\/l - é: ?
t, = 31 34
so
4 K=4 T=1
1 o, 2 & 3 M, % t, 4
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[N

w

(G2 BN SN

t. 5 E=2/2
K
Ris) K C(s)
'?_ s(Ts +1) *
K K/T 4

D(s) =

t, = (7= B))w,1- & =0.94s
E=\2/2  w,=12w,=0707
K

K=w’ =05

Tsz+s+K:s2+l/Ts+K/T:sz+s+4
o, =K/T=2 2 &=12a, =025
M, % = e x100% = 44.4%  t, = 3/ém, = 6s
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11 2

5

1

2

r(t)=5(t) © R(s) =1  C(s)=G(s)*R(s) = @ [(s* + 28,5 + ?)
E=0
g(t)=L'[C(s)]|=L"[0?/(s* + ®))] = w,sinw,t t>0
0<&E<

-l y-lp 2 /2 2 @y Lot 2
g(t)=L"[C(s)]=L [a)n/(s +2§a)ns+a)n)]——2 e sinw, 1-&°t t>0

3

1-¢
£=1

g(t)=L"[C(s)] =L " [w;] /(s2 +20,s+w)] = te™™ t>0

4

E>1

g@):[:wag]=1:Taﬁ/@2+2§ags+aﬁ)]=;722==k*¢Vf4”-e*ﬁVf4”] £>0

2

6
. 1
() =6(t) ©RE)=1/s’  CEO=CE*REO =5 *——x~
s"+28w,s+w; s
c(t):t—£+Le'5“’"‘sin(a)dt+2ﬁ) t>0 w,=w,1-& f=arccosé
n d
eSS = 25
a)n
@, S
7
2
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1 PI
R(s) E(s) " TS ue [ el C(s?
& s(s+ 25w, )[ T
I Kp
+ PI
U
Gc(s):ﬁ:Kp+Tds
E(s)
u, (1) = K e(t)+ T, LU
dt
wX(K_ +T,s)
D (s) = — p Zd .
s+ (28w, + Ty, )s+ K 0,
Koo Ty
2
) ROS), < EO©) @ as)
D(s) = @y — — s(s+2&w,) !
(S)_ 2 2 2
"+ (28w, + K w))s +w,
1 KfS M
'=f+—K,o
é: § 7 f*n
o, t,
1 20% t, =1 K K, K
K, =0 M, %
K
D(s) = —
S +(1+KK;)s+K
R(s) E(s) < C(s)
{2§a)n=l+KKf — g_ s(s + 1) "
a)r?:K L K:s |«
M % =e 1 % 100% £=0456
¢ pa . ®, =3.53 (rad/s)
"o 1-Er t, =1.8755
K=w=125 K, =2, -1)/K=0.178
K=12.5 K, =0
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o(s) 12.5 £=0.14 M, % = 64%
S -
s’ +s+12.5 o, =3.53 (rad/s) t, =6.07s
3.4
1
m m_l —_— —_— oo —_—
G(s):bos +b;s 1+ +b_,s+b, _K, (s=z,)(s=2z,)(s—-2z,)
a,s"+a;s" +---+a, s+a, (s=p)—p,)(s—p,)
C(s)=G(s)R(s) =K, 2= 2)(672) 1A 50 A ‘\
T(s=p)s—p,) (s pn) s s Hs-
cm=Aﬁ+Zpr
i=1
” Al Al
2
1
2
S
5
3
2
O(s) = — 10w, i
(s"+2w,5+ w))S+ p)
: p/éwm, >5
S1,2 =_§wn * ja)n VI_QZZ
2 2 2
O(s) = 10w, B 10w, . 10w,

(s> +2Em,5+ W)+ p) p(s® +2&w,5 + )

p®2+2&%s+wﬁ(;s+n

2
C(0) = thC(S) = thQ)(s)R(s) —=lims e L, 10w; _10
50 s (SP+28ms+w)(s+p) P
2
C(OO) = thC(S) = llmS(I)(S)R(S) =limsS e l ° 10a)n _ 10

05 p(s’+2bmStal) P
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_12 2
5
3-4 35
3.5
1
2
rt) =8t
1 limg(t)=0
2 limg(t) = o
3 limg(t)=C
lim g(t) = 0
S
S
S
1 O(s)=2(s—1)/(s+1)(5+2)
p=-2 p,=-1
2 Ds(s) =(s+10)(s* +16) =0
Dq(S) = (s +10)(s> +16) =0
§=-10 s,=%}4
3 G,(s)=2/s(s+3)
D(s)=2/(s* +3s+2) p=-2 p=-1,
3
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n n-1
a,s +as  +---+a,.,S+a,=0

" a, a, a,
Sn—l al a‘3 a‘S
T P i N . e S . Pt
S ’ a a
1 1 1
s" C = ba, —ab, _ ba; —ab; _ ba, —ab,
1 b, ? b, } b,
2 .
s
X d, d, d
el e2
SO
fl
Routh Routh
S
1
2
a,s +as+a,=0 Routh
s? a, a,
s' a, 0  Routh
0|28, —8,x0 _a,
a1
a, >0,a, >0,a,>0
a,;s’ +as’+as+a, =0 Routh
s’ a, a,
5?2 1 a,
o a,a, —a,a, 0 Routh
a1
s’ a,
a, >0,a, >0,a,>0,a,>0 a,a, > a,a,
2 Dy(s)=s"+25"+3s’ +4s+5=0
4
S 35
2 4
s’l1 5 2 2
s'|—6
% 3
S
£ e—>0"
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3 $—35+2=0
s’ 1 -3
s’ 0=¢ 2 5 )
N -3e-2 0
&
s’ 2
S
S
F(s) dF(s)/ds
4 s* +2s" +24s” +48s* —255-50=0
5
1 24 25
S ) 48 50 \ )
—
£l 24 =50 IFS) _gs 4 96
12,7 ds
g —50
5
S,=xLs;=-2,5,,=%]5
4
1 G,(s)=K/s(s+1)(s+5)
K
S(S+1)(s+5)+K=0=5"+65>+55+K =0
0<K <30
2 G,(8) = K/s(T,s+1)(T¢s+1) T,>0,T, >0
K
K
d(s) =
© T TS +(T,+T,)s’+s+K
TT.S+([T +T,)s°+s+K=0
T,+T; 1 1
T,+T, >KT T, K>0=0<K< =—+—
m'f Tm Tf
3 G,(s) = K/s(s+1)(s+5)
s=-0.1 K
S(S+1D(S+5)+K=0=>5"+658"+55+K =0
s=z-0.1
Dy(s) =5’ +5.78* +3.825 + (K = 0.441) = 0
K 0441< K <21.39
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_13 2
6
3-7 3-11
3.6
1
e(t)=r(t)—Db(t) ===== E(s) =R(s) - B(s)
e(t) =r(t) —c(t) ====== E(s) = R(s) - C(5)
2
e(t) 2 & (D)
ess (t) ’ e(t) = ets (t) + ess (t) ’ t ets (t)
eSS (t)
e = %ime(t)
3

MNis)
LIER-S-ONS é o —Ce s
B(5)

i

Hes) |°
1 rt)
1 1
nt)=0 dg(s)= =
1+G,(s) 1+G,(s)G,(s)H(s)
2 n(t)
(=0 g (s)=— 2O
1+G,()G,(S)H(s)
3
E(S) = Er(S) + Ey(S) = Der(S)R(S) + Dy (S)N(S)
4.
Laplace B = %im e(t) = ling SE(s)
1
0.1 K
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R(s) E(s) K (0.55 +1) C(s)
28° +3s* +(1+0.5K)s+k =0 — s(s+1)(2s+1
K 0<K<6
O, (s) = E(s) 1 _ s(s+1)(2s+1)
e RS) |, KOSs+D) — s(s+1)(2s+1)+K(0.55+1)
s(s+1)(2s+1)
6. = limSE(S) = lims® . (S)R(S) = lim s ® Ss+1)@s+1) LI
$-0 s—0 >0 §(s+1)(2s+1)+K(0.5s+1) s K
0.1 eSS:L<O.1 K>10
K>10 K
0.1
m m-1 2.2
G(s) = b,s n+ b;s _ +--4+b, s+b, _ 7(T1S + 1)(12s2 2+212gzs +1) _ ﬁyGo (s)
a,s"+as +---+a, s+a, S"(Ts+D)(T;s” +2T,&,s+1) -+ s
2.2
G, (s) (r;s+ 1)(722s2 +27,6,5+1) limG,(s)=G,(0)=1 K
(Ts+1)(T;s” + 2T, &5 +1) - s-0
7, o T, T, y
4 y 01 2 3
0 N 4
r(t
K
Y
r(t)=1(t) < R(s)=1/s
e, =limsE(S) =limse .l: . !
0 =0 1+G,(S) S 1+11n3GK(S)
Kp = ISI_I;IZ)IGK (S)
Kp e = 1
14K,
r(t) =ti(t) < R(s) =1/s?
e, =limsE(s) =limse ! -Lzz.;
550 >0 1+4G(S) s lslng SG, (s)
K, = ling sG (s)
KV e = 1
SS KV
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3
ra)=%¢2c>R@)=U%3
. . 1 1
e, =limsE(s) =limse ¢ ="
50 0 1+G(S) S 11rr015 Gy (s)
K, =1in01526K(s)
Ka eSS :L
Ka
4
r(t) St o R(s) :1+L2+i3
2 s s° s
1 1 1
e, = t—t—
1+K, K, K,
r(t) = Al(t) r(t) = Btl(t) r(t)=Ct*/2
o KK e Sk, e, =B/K, e, =C/K,
0 K 0 0 A/(1+K) 0 o
1 e K 0 0 B/K 0
2 © © K 0 0 C/K
3 o9) o9) 0 0 0 0
1
2 K K
3 1%
|
1 PD r(t):1+t+5t
R(s) K. C(s)
— Ki(ms+1) s*(T,s+1) -
1
T.s’+s*+K, Ks+K,K=0
T,>0,K, >0,K, >0,z>0,7>T_
2
Gy (8)=K K, (s +1)/s*(T,s+1)
2 szooaszooaKazKle
eSS = eSSl +eSSZ +eSS3 = l/Kle
2 Gy (s) =10/s(T,s+1)(T,5+1)
T,=0.1s,T, =0.5s r(t)=2+0.5t
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TT,8 +(T, +T,)s’+s+10=0
T,+T,>10TT, =0.1+0.5=0.6>10x0.1x0.5=0.5

Gy (5)=10/s(T,s+1)(T,s+1)
1 K. =ow,K =10

p v

e, =€, +e,, =0+0.5/10=0.05
M(s)
E(s) Ei=) (=)
G, (5) -—-{%}—» G, (5] >
B(s) e |«
. oy |
G,(s)H(s)
R(s)=0 - — 2
(s) Ex(s)=-Cy(s)H(s) 146,56, () N(s)
e = limsE(s)=—limse—2OHE) [y
0 0 14+G(8)G,(s)H(s)
)

@ |

E() AN
1 PI As) {%_ 2, £+ ot oS

U.(s)=(K, +%)E(s) =, (=K, +K [ edt K,

ey +
o} (K s+K,) o} (K s+K))
G(s)=—m—2" L y=2 D(s) =— R 3
s (s+2¢w,) s*+28m,5" + K jw;s+ K,
0<K, <28éam,
K, =0 e, =0,rt)=1(t)
K,=0o  =4e, =0,r()=tlt)
Ka = Kia)n essr = 2§
2& Kia,
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_ 14 2
MATLAB
MATLAB Simuink
Simuink
Simuink
1
2
3
1
MATLAB tf2zp root
| G(s) = 0.2(s+2.5) MATLAR
S(s+0.5)(s+0.7)(s+3)
2 G(s) = K(s+2.5) k=1 10 100
S(s+0.5)(s+0.7)(s+3)
MATLAB
1 k 1 10 100

k

2
1 G(s) = 25;5
s°(s+10)
w1

(=5 Scope
J stz
RI:S) By CI:E-':I Step Fero-Pale —‘
- Tis) _/

Ramp

Tl

Famp1 ain  Math Function
Simulink Sum Pole-Zero Scope

? : O =55+10)
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1
| 6(5) = 025+25) VATLAR
S(s+0.5)(s+0.7)(s+3)
k=0.2
2 G(s) = K(5+2.5) k=1 10 100
5(5+0.5)(s+0.7)(s+3)
MATLAB

k=1 MATLAB
7z=-2.5;p=[0,-0.5,-0.7,-3];k=1;Go=zpk(z,p,k);Ge=feedback(Go,1);Getf=tf( Gc);[ z,p,k |=zpkdata(Gctf,'v");
pzmap(Gctf);grid;

z= -2.5000 p= -3.0297 1.3319 0.0808 +0.7829i 0.0808 - 0.78291 k=1

Pole-Zero Map
AT "pgas. ;) ob. o0& 06 0%
el e SR R

Imaginary Axis

5

'-,9};1,--"'-," Ib.q45'l", 0.;:-:,"’10.32" 0‘.5,5'|0,ei

’ i
=38 -3 -25 -2 -1.5 -1 -0.s o 0.5

z= -2.5000 p= 0.6086+1.7971i 0.6086-1.79711 -3.3352 -2.0821 k= 10
Pole-Zero Magp Paole-Zero Map
081 BER. . 0F2- 088 oaTd

~

PO " s 08 D4, 05003 046 |
S ' —al LS hE -

'
W _a-L--2
-7 '

- L--a
L Sy . e R
s "

Imaginary LAxis
Imaginary Axis

W -
< . |
ot F--n

: ool’ nga- 07dv o5 p4 02 ¥
g 3 E - 0 1
k
k=100

z= -2.5000 p= 1.8058+3.9691i 1.8058-3.9691i -5.3575 -2.4541 k= 100

k=10
2
1 G(g):f;s
2 (s+10)
Il
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i

T > 5 Scope 0

Hz+10) :

Step Zem-Paole _- :
B0

100 180 200 250

I
]
A = a Scope
" Ll
| A=+ 10)
Ramp Zera-FPale

100 150 200 250

r

5
u2 +_ -
=10
Ramp1 Gain hdath Zem-Paole
Function

|

100 150 200 250
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— G(s)

_15 2
1 2
180<
180<
180<
4.1
1
Kg 0>
S
) R(s) E(s) C(s)

&—>
s {_____ H (s)

v

A

[1Gs-2) H|S z| {Z(s ) Z<S P, )}

K, ‘:l =K, _ gl2kenz
H(S_ pj) ‘S_ pj‘
i1 j:l
Ilh Z \S—p\
K, A:KrmzLTW—M:K
[Tls-pi HIS z|

i=1

i=1

[ZXSZ>EKSP>}QK+W”””+” k=0,£142, -
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3
IIb—L
Kg In:I :1
IIk_pJ
j=1
> (s=z)-D (s | = 2kz = 0" k04142,
i=1 j=1
OSKg < 400 180°
4.2
1 180°
1
Kg =0 S
Kg =0 S
m
n>m n-m
2
3
m n
4
n>m n—-m
Kg —> 0
- 2k + Hz K=012,.n—m
n—-m
P - z Zi
. = j=1 i=1
8 n—m
5

00

-1
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16

2
2
180<
180<
180<
4-1 42 49 3
6
Kﬁ(s—zi)
GK(S)Z ni:I — KEI)\I(S)
[T-pp P
j=1
KN(s) 3 3
1+—D(s) =0= f(s)=D(s)+KN(s)=0
K
df (s) _d[D(s)+ KN(s)] 0
ds ds N
Ko
ds
d D(s)
ds[N(s)]
Dg(s)=0 s=jow DB(ja))ZO DB(ja))
Re[DB(ja))]+jIm[DB(ja))]=0
Re[Dg(jw)]=0
Im[Dg (jw)]=0
1 Gy (s) =K, /s(s+1)(s+5)
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p1:0:p2:_1:p3:_5 n=3,m:0
3 3 p1:0:p2:_1:p3:_5
7/3=60°k =0

o = K +1)7r:(2|<3+1);z: 1800 k=1

n—m
57/3=300°,k =2
O-azzpj_ZZI = p1+p2+p3 =—2

n-m 3
0 -1 -5 -

Kg+s(s+D(s+5)=0
_ds(s+D(s+5)

dK
K, =—s(s+1)(s+5) 2 = =35 +125+5=0
ds ds

s, =—0.473,5, =—3.52 s, s, =—0.473
6, =180°/k =180°/2=90"

s3+632+55+Kg =0

s=jo (jo)’ +6(jw)’ +5(jo)+K, =0
(K, —60)+ j(50—a’)=0

Kg—6a)2:O:> =145 w=+/5

So-w’ =0 Ky =030 Ky =30
g3 1 5
2 6 Kg _ 1
" 30—k, K,=30 s X )
0 6 Im ///
S Kg ///
2 F(s)=65>+K, =0 )y
S:ij\/g B | | \/// | [ RQ

(K, =305 =£45) ) D 2/{ o

8 [N

0, =Qk+D)z+> Z(p,—2)-D,Z(p,—P;)
i=1 =1
j#=X

px px+1 HPX = _epx

+1
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0, =@k + D7 =Y Z(2,-2)+Y Z(z2, - p,)

i#X

Zy Iy T
Gy (s) =K, /s(s* +25+2)
p=0,p,=-1+],p;=-1-] n=3m=0
1 n=3m=0 3
2 P =0,p, =—1+],p;=—1-]
3 3

7/3(60°),k = 0
= {7(180°),k =1
57/3(-60°,300° ).k = 2

C@k+Dr (2k+Dr

n—-m 3

?Pa

o. = p1+p2+p3:O_I+J_1_J: 2

: 3 3 3
4 -0 0,
5
6 p2:_1+jap3:_1_j (oa:ﬂ-/3357[/3
7
s*+2s% +25+K, =0
S= jo (jo) +2(jo)’ +2(jo)+ K, =0
Kg—%f=0:>w=iJ§
20-w° =0 K, =4
8
0, =180" = Z(p, — )= Z(p, = p3) =180" = Z(~1+ ) = Z[(~1+ j— (-1 )]
= —45°
6,5 =45
9
S R S |
9 Real Axis
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— — Y — m m-l e
G(9)=K, (s=z)(s—1z,)-(s Zm)ngSn+blsn-1+ +b, S+b,
(s=p)(s—p,y)--(s—p,) S +as +---+a,,5+4a,
S"—(z,+ 2,4+ +2,)S" +o (=D 2,2, 2,
TS (et PSSt e+ (S PR, ey

m

m
Zzi :Zl+22+...+zm:—b1 HZI :lez"'zm:(_l)mbm
i1 =1

ij =p,+pP,++ P, =4 H Pj =P P, P, :(_l)na”
i =

Dg(s)=s"+as™ +---+a,,s+a, +K (s"+bs"" +---+b s+b )=0
s i=12,---,n

Dy(s)=]](s-s5)=s"+C;s"" +C,s""+---+C, 8" +C =0
i=1

1

n-m>>2

n

[Is=(-D"c,=(D"(a,+Kgb,)
=(-D"a, +(—1)”Kgbm

n

=TI p+D""K, ] z
i-1 i1

a, =0
n

s =(-D""K, [z, =K, (D" ] 7]
=1 j=1 j=1
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_17 2
2
OO
0= 180
180 0<
OO
4-8 4-12 4-13
2 0°
0° 180°
1
.= 2K K002 -me
n—m
2
0
3
pr = Z Z(p>< - Zi)_z Z(px - pJ)
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o, = a)n\/l—2§2 +y2-487 +ag

M.% M, M, M, % M,
M, % M, =12 15
M,%=20% 30%
t, M, o,
_ 2 2 4
a)b—con\/l—2§ +2-487 +4s
53:=%J1—2§2+42—4§2+4§4
a)n
wpts =
54 =§wh—252+42—452+454
a)n
wty M, M, t, N
3
M, % M,
tS Mr a)C
M, y M, =1/siny y
M, M, — y=0°
4 Y
o, y=30" 60°
L(w) 0dB —20dB /dec
3
(D(S):&
1+G(s)
. G(jo
P (jo)=oID
1+G(jw)
201gG(jo)|<«0  |G(jw)| <1
. G(jow .
(i) =42 < |6 (jw)
1+ G(jw)
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25 2

MATLAB

MATLAB Bode Nyquist

MATLAB Bode
MATLAB Bode Nyquist
MATLAB Bode Nyquist
1 MATLAB
2 Nyquist
3 Bode
MATLAB Nyquist  Bode nyquist
ngrid bode  margin
1 Nyquist
nyquist Nyquist
nyquist(num,den) Nyquist
GH(s) = b.s"+b, s"" +...+bs+b,
-1
a,s"+a, " +...+a5+3,
num=[b b, -~ bb] den=[a,a, - aa,]
50
1 G()=——"— MATLAB Nyquist
(s+5)(s-2)
MATLAB
num=[50] den=[1,3,-10] nyquist(num,den) axis([-62-20]) title(Nyquist ")
Nyquist _
%
Nyquist -1 j0)
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2 G(s)= L MATLAB k=1,8,20
S(s+5)(s+10)
Nyquist
2 Bode
MATLAB Bode bode() bode( num,den) Bode
2
I G(s) = e B o, =0.7

$* +2&@,5 + )
£=0.1,0.4,1,1.6,2 Bode
MATLAB
w=[0,logspace(-2,2,200)] wn=0.7 tou=[0.1,0.4,1,1.6,2] forj=1:5
sys=tf([wn*wn],[1,2*tou(j)*wn,wn*wn]) bode(sys,w) holdon end gtext('tou=0.1")
gtext('tou=0.4") gtext('tou=1") gtext('tou=1.6") gtext("tou=2")
Bode

Bode Diagram
20

0

ool

an

Magnitude (dB)

B0

A0

-1o0
o

=
i
T

Phase (deg)
w
o

135

-180 — L .
10 100 10° 10 10°
Frequency (racfsec)

~ 5(0.0167s+1)
5(0.03s +1)(0.00255 +1)(0.001s +1)

Bode

2 G(s)

MATLAB

num=5*[0.0167,1] den=conv(conv([1,0],[0.03,1]),conv([0.0025,1],[0.001,1]))

sys=tf(num,den) w=logspace(0,4,50) bode(sys,w) grid [Gm,Pm,Wg,Wc]=margin(sys)
Bode

Magnitucte (d5)
i
]

00 -

-150
-a0

135

80 -

Phase (deg)

225 |-

or1) S S I S Y PR RITIES
0 10 q0° 0 10
Freguency (radizec)

Gm= 4552548 Pm= 852751 Wg= 6024232 Wc= 49620
A, =455.2548 y =85.2751°

o, = 602.4262rad/s o, =4.962rad/s
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3 G(s) = 100(0.5s+1)
S(s+1)(0.1s+1)(0.05s +1)
1 Nyquist
2 G(s)= 100k MATLAB
S(S+5)(s+10)
Nyquist

k=1 MATLAB
num=[100];den=[1,15,50,0];nyquist(num,den);axis([-3 2 -1 1]);title('Nyquist
Nyquist

youist B
1 T T

08
08
0.4
02
) I, foenne s -
02 :

Imaginary Lz

0.4

-0E

-0.8

4 | |
-3 e i

Real Axiz

I Nyquist (-1 j0)

k=8 MATLAB
num=[800];den=[1,15,50,0];nyquist(num,den);axis([-3 2 -1 1]);title('Nyquist
Nyquist

Nyguist B

Imaginary Lxis

Real Axis

Nyquist -1 30)

k=20 MATLAB
num=[2000];den=[1,15,50,0];nyquist(num,den);axis([-4 2 -1 1]);title('Nyquist
Nyquist

Bode

k=1,8,20

;

s

s
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Mycuizt B2

Imaginary &xis

Nyquist -1 30)
k
2 Bode
3 G(s) = 100(0.5s+1) Bode
S(s+1)(0.1s+1)(0.05s +1)
MATLAB

num=100%*[0.5,1];den=conv(conv([1,0],[1,1]),conv([0.1,1],[0.05,1]));sys=tf(num,den);
w=logspace(0,4,50);bode(sys,w);grid;] Gm,Pm,Wg,Wc]=margin(sys);
Bode

Bode Diagram
400

o

Magnitude (dB)

400 [---

-200
-30

135 [---

g0 [---

Phaze (deqg)

10 10
Freguency (radfsec)

Gm= 0.5080 Pm=-16.2505 Wg=13.0505 Wc=18.0572
A, =0.5080 y =-16.2505°

@, =13.0505rad/s @, =18.0572rad/s
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_26 2

6.1

JN(S) ' lw(s)
Re) %E@> oG O, R o ) ol @,
' t G0 e

r

k

H( [*
REERE - Hs) |«
RIS
02T (B ) v
/ [ — [
I [ R
A Q@)___*T s @, RO | ) e & o CE)
His) [+ HE) |
FiEtRE BABE
5
1
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2
1
2
3
2 0dB —20dB/dec
3 —40dB/dec
6.2 R
1 | | |
G
G(s) = R, __R, l+aTs _1 l+aTs U, R, >
Rl//i+R2 R+R, 1+4Ts «a 1+Ts
sc
a=(R +R)/R,>1 T=RR,c/(R +R,))
la<l o
o
G(s)= 1+afls
1+Ts
t Lw)
I b
1
i 20lga
b
L
' 4 4 @
B
F 3 l !
ogt A : %
/4
| ) !
I
I
I
o =1/al o, =1T
o =1al  w,=1T
0=0, o, o, o=lal w,=1T
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W,

1 1 1
= T\/E = - x? =00, lgaw, ZIgMZ%(lg@ +lgw,)
0=,
o, :arcth{—_l=arcsin06_1
m 2 a+1
o P
D=0 L(a)m)lelga:%(0+201ga)
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2
2
6-1
@e = W o, =, P
L(o) P(®)
L(w)
K L(®)
K
K (@)
(O 4
7 < 7'
o, < a)é
0dB —40dB/dec
P
on=7' =y +( 12 Ay=y'-y 5 12%
a
= arctg a-l_ arcsin a-l
o P 2Wa a+1
o= 1+ s%n O
l-sing,
L(w))+10lga =0
a
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a)C
-10lgx
@;
w —;— w,0
m T a 172
1 1 1
O, =—F—= =+ 0,0 T= =
TVa n o Na oNa
1 Iox 1
A =—= < . :—:»\/aa),
1 CZT \/Z 2 T c
G.(s) = 1+s/w,
1+5/w,
G'(s) =G(s)G,(5)
L'(w) ¢'(w)
Gy (5) = K/5(0.15 +1)(0.001s +1
y'>45" 2 K, =1000(s™")
1 1
2 G (5) =1000/s(0.1s +1)(0.001s +1
Bode w, =100,y =0°

201g1000 — 201g @, —201g+/(0.1,)* +1 — 201g+/(0.001@,)* +1 =0

10 < w, <1000
201g1000-201g @, —201g0.1w, = 201g10°> —201g 0.1 =0
201g10* = 201g @; w, =100

¥ =180° + |- 90° - arctg0. 1o, — arctg0.001a, |
=180° —90° —arctg0.1x 100 — arctg0.001x 100

=0°

3 P
Dm =7'-7+(50 120)=450_00+50 —50°
4 a
=1t g5
1-sing,
5 a)é
10lger =101g7.5 = 8.75dB L)

A

W

o, =164.5(rad /s)

P

K =K, =1000

—8.75dB

96

www . kaoyancas .net




www . kaoyancas . net

201g1000 - 201g @, —201g0.1w, = 201g10° —201g0.1,* = -8.75
o, o, =164.19(rad/s)

6
@y, 0,
, =%=%=60(rad/s)
o, =aw, =/7.5x164.5=450(rad /5)
G.(5) = 1+5/@y _ 1+0.0167s
1+s/w, 1+0.00222s
7
1+0.0167s 1000 1000(1+0.01675)

G'(s) =G (8)G(s) =

1+0.00222s * $(0.1s+1)(0.001s +1 - S(1+40.002225s)(0.1s +1)(0.001s +1

K =1000 = K,
7//=450
0dB —20dB /dec 390(rad /s)
o, =164.5 @, =100
3 2
a
Rl
1 L 1
1 R
R, +— 2
6(o) = zl sc _ 1+ scR, :1+st U, AhL U,
R+ +R, 1+sc(R,+R,) 1+Ts C T
sc
b=R,/(R+R,)<l T=(R +R,)C

b 1, (7)

i

20lgh

b (o)

» (i)
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_28 2

6-2

o, =1/T  ®,=1/bT
o, =1/T  w,=1/bT
®n o, o, =T w,=1/bT

0=,
1 1 1 1
_ :/_ I 1 =1lg./ =—(1 +1
O, T\/E TXbT 00, gw, =1g+ 0w, 2(ga)1 gw,)
=,

= arctg E = arcsinE
m Pm 2\/6 b+l
b Po Po
-90° b
=0, L(a)m)lelgb=%(O+201gb)
0dB
201gh <0dB
o /4
o v
P O, @
1 @
w,=—=—"=0.lw,
7 bT 10 °
o, o, (o)) = arctg0.1(b—1)
] < o,
o
2
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L(w) ()
L(w)
K L(w)
K
K P(o)
@, 4
y < 7
w, > o,
o
) p(ay)
r'=r o +p(e)
y o @, p(w;) w; @,
p(w)) = —6" Y=y oy +p(a)) @,
b T
L(w.)+201gh=0
1 0.1w;
bT
L 0.1 0250w, (o)) (-6"  —14°%
bT
o, =1/T,w, =1/bT
G, (s) = 1+s/w,
1+ s/,
Gy (s) = K/s(s +25)
K, =100 y>45°
1 K, =100 K, = K/25=100

K = 25K, = 25x100 = 2500
Gy () =2500/5(s + 25) = 100/5(0.04s +1)
2 w,=50(rad /) y=27"<45°

201g100 —201g , —201g+/(0.04c,)* +1 = 0dB

w, >25, (0.04a,)* >>1
201g100 —201g w, —201g0.040 =0
w, =50(rad /)
7 =180° + (@, ) =180° +[-90° — arctg0.04 x 50] = 26°
3 y' > 45" y'=45" g (o)) =-6" V'=r @ +o(wp)
45° = p(a) - 6°
p(w)) =51 =-90° —arctg0.040’
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w, =20.2(rad /s)
4 w, =20.2(rad /s) L(w,)=14dB

L(w.)=201g100 —201g @, —201g+/(0.04)> +1

=40-201g20.2 — 1g,/(0.04x20.2)> +1 = 11.8dB

L(w!) =201g100 - 201g @, — 201g+/(0.04)> +1

~40-201g20.2=14dB

5
L(w{)+201gh=0 201gh=-L(®w;)=-14dB b=0.2
Lz 0.1w; =0.1x20.2 T =2.5(s)
bT
6
1+bTs 1+0.5s
Gc(s)= =
1+Ts 1+2.5s
7

100(1 + 0.5s)

GO = G180 =317 5oyt + 0.0a5)

7' =180° +[-90° + arctg0.5x 20 — arctg2.5 x 20 — arctg0.04 x 20] = 46.8° > 45°
K, =100
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_29 2
MATLAB
SISO Design Tool
1
2 SISO SISO Design Tool
1
R C
= aE —= G© [T
G, (s) G,(s)
1+aTs 1+aTs
G.(s)= (a>1) G.(s) = (a<l)
1+Ts 1+Ts
SISO SISO SISO Design Tool
Bode

/

1 SISO

MATLAB sisotool SISO Design Tool sisotool

SISO Design Tool MATLAB
2 DC
2 SISO
file/import SISO Import
System Data 3
3 Current Compensator
2 Current Compensator
Bode

4

SISO Design Tool “ct+/-77
(X3 FS Yy 4
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L % o & & % | e E 5000

Coarerd L |

Baud i B Lywmes oo Dk Sl 01
. =
s
k .;“"": : : I?muw .u.-.l.-..-.-l.‘:I
|Imm|:drr\o-dﬂm Pghe-chci: on the plott iod design aphora |
2 SISO
_,,
Rpia=cipnt I T
- HF—" F5| [+/] Fl |+ Fs |+ FS
4 SISO Design Tool
1o G, (s)= 2 SISO SISO
° s(0.1s+1)(0.3s +1)
Design Tool K, <6 45°
Bode
1 SISO
2
MATLAB G,(s)=
S(0.1s+1)(0.3s+1)
num=2 den=conv([0.1,1,0],[0.3,1]) G=tf(num,den)
2
0.03s"3+04s"2+s
sisotool SISO Design Tool file/import G
SISO 5
2
K, <6 3 5 C(s)=1 3
Bode y=21.2°
3
Bode ““Add Pole/Zero™” ““Lead””
X Bode
6
Bode y =28.4°
4
45° 7
102



www . kaoyancas . net

0 Design Too m|
Fie [l pew (omperasbond feabe oo Wirdoe el File Edit iew Compensators Analysis Tools indow  Help
o & #%OmEX g  Xxo &= ImMIxNg
Timert Comganina Curent Compensatar
%] [1+0.19s)
il = | - | ! hﬂd Os)= |3 § el !
e i 1+0.13) +- Fs
Reool Loews Edlor {T) ettty By Eclr (1231 Root Locus Editor () Open-Loop Bode Edtor (<)
0 0 — 20 100
/ B i
I_,r o _"‘"‘1-,_\_\_. 1 o e
] F, ] i 10
/ G AT ] x‘“—x Ljop |GM. 916 dB
I" B0 [Fang 5 77 racivec H"'H-.. Freq 7.2 radisec
bl ke . Stable loop
o - e A8 0 200
I"F 0 e — 0
L T,
-4 hY S0 \‘\ | aC 715 R, - S —
%, P 2 ey \ PM. 28.4 deg
30 \-._ s Feog 3174 rasmec _— a0 i 70 Fredp 4 radisec
E ] 20 T [ ] ' = -30 20 -10 [i 10 452 10° 0 ot
Peal bt Frepumy [radees ) el Frecuency (raizec)
Loop gan charged o 1 I ‘ Added lead network to C(s) with zero at & = - 25 and pole at s = -7.07

5 6

) SIS0 Design Toal

Fle Edt ‘lew Compensators dnabest  Tools  Window Help
|[}xo§-3h?]lﬂ1x¥?
Cuarerit ahor
o |—lwl4]r
o " 054 o] A s
&6 _ y : 100 ’ .
| e
20 e
(o | F M 18 '““-“_L
Freq 131 meliee .
| T e Shable koop ™
< o,
= A
PM. 458 deg
- g [Free & 76 ractze -
= - o g T s 1w '
Fial Az Froquandy (radisss)
Laop gain changed o 3 |

3(1+0.265)
(1+0.054s)
k

2 1 G,(8)=————
5(0.25+1)
Design Tool K, <100 30°

Bode
3 SISO Design Tool 8

U, () o(t)

K,=6 y=459°

SISO SISO

J
_ . BEREN = @)

1.5

G(s)=
®) s? +14s+40.02
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t. <0.5s e, <5% M; % <10%
Lg >20dB y >40°
|
SISO Bode
Bode
t. <0.5s o, 3rad/s
3rad/s 0.33s
““Grid”” Bode
2
““Add Pole/Zero” ““Integrator””
3rad/s
3
Bode ““Add Pole/Zero>~ ““Lead””
“X”” Bode
Bode
4
k
2 1 G,(S)=——— SISO SISO
S(0.2s+1)
Design Tool K, <100 30°
Bode
1 SISO
k
MATLAB G,(S)=———
S(0.2s+1)
num=1 den=conv([1,0],[0.2,1]) G=tf(num,den)
sisotool SISO Design Tool file/import G
SISO
2
K, <100 100 C(s)=1 100
Bode y=12.8°
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Cunent Compensator e Current Compensator
C G
Cisl= |1 T _ |
ik Fs Clsl= | 100 o e
Root Locus Editor () Open-Loop Bode Editor (C) . .
2 20 Raot Locus Editor (C) ©Open-Loop Bode Editor (C)
30 100
i
; 20 20 0
A0 LG M. Int G M. Inf
e |Frea. Inf o U tFree nf
Stable logj
0 a0 P @ - Stable loop
-0 -80
-10
-
135 W
PM: 78.9 dey 5 P 126 deg
P I Flraq 0.881 ra:usec : : 7305 - : - - ] 180 :req. 221 rat:fsw | )
5 -4 3 2 el LS 10 10 107 b - - - . 10 10 10 10"
Real Axiz Fresuency (radizec) Feall i Frequency (radisec)
Loop gain changad to 1 | Loop gain changed to 100
cc »3 cc »3
Bode Add Pole/Zero Lead
=& 7
X Bode

Curnent Compensatar Curent Compensatar
[1+0.43) ‘ [1+0.215) ‘
Clsl= 100 g e ! Clsl= 100 g et !
1s) BT FS K SR EE +- i

+/-
Root Locus Editor () Open-Loop Bode Editor [C) Root Locus Editor (C) Cpen-Loop Bode Editor (2
30 100 =) a0
20 a0 40
GM: Inf Yiem: nt
10 a Frec: Inf e Frec Inf
Stakbl Stable looy
0l = 50 able loop e Al 50 i
-a0 -an
-10 =20
-20 PM. 129 dey <Y P 305 deg
" Frecg 525 radfzec
30 a0 Freo: 271 radizec ) 50 180 : o , _ :
S 4 3 2 4 B 10° 10" 100 40 = 20 A0 0 o 10 107 10
Real Axis Freguency (radisec) Real Axis Frecuency (radisec)

Added lead nebwork ta Cls) with zero at s = -2.21 and pole at s = -3.46 Moved the selected real pole to = = -30.7
Right-click on plots for more design options.

Bode y=12.9°

30°

100(1+0.215) K, =100 y=305°
(1+0.033s)

3 SISO Design Tool

1.5
s? +14s+40.02
M;% <10% Lg >20dB y >40°

G(s) = t. <0.5s e, <5%

1 SISO
1.5

s’ +14s+40.02

MATLAB G(s) =

num=1.5 den=[1 14 40.02] G=tf(num,den)
sisotool file/import G SISO
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Current Compensatar

Root Locus Editar (C)

Open-Loog Bo

che Edditor (2

www . kaoyancas .net

a =20
40
-60
-a0 P EM Inf
Frec Inf
o Stable loop
0 oo 120
o
45
-80
135 [P M It
) . . . . a0 Frec Mal
0 & 5 -4 2 i 1° 108
Real Axis Freguency (radizec)
2
Bode Bode
t. <0.5s @,
3rad/s 3rad/s 0.33s 34.8
Current Compenszator
’:{s] A ETT]
Roaot Locus Editor (C)
10 50
N 0
]
G Int
SO Erey it - .
Stable loop |
L I F -100
0 '
= . 1] | S A A RO -----------
PM.: 126 deg H
S 180 Fhreq 3 radfsacu - .
-0 -5 -6 _-4 =2 10 10 10° 10
Real Axis Frequency (radisec)
2
““Add Pole/Zero>” ““Integrator””
3rad/s
108
Curent Compengator
1
Cls]= | 108 e ‘ -
F : . e
Root Locus Editor () Open-Loop Bode Editor (C)
20 100 . .
0l ————= T ]
@ 100 GM: 107 dB
d . Freq B33 radisec 0 N
| Stable loop
O -ty -200
1 1] T T
-0 : 80— ————— — - ———
: PM: 353 dey :
e . . : 380 Fﬁreq: 3.08 radizec .h
=30 =20 -10 1] 10 e 10” 10° 10‘
Real fais Freguency (radizec)
3
Bode ““Add Pole/Zero”” ““Lead””
““X*” Bode
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Current Compenszator
[
Cls)= | 108 W e ‘ -
’7 : . e
Root Locus Editar () Cpen-Loop Bode Editor (12
20 100 T T
0l————== : _________
" | 4o loMi11EaB b
. Freq: 7 68 raciesc ~ [
Stable loop '
0 el - - - - -200
o
- T ]
P 419 deg
5 ) ) 380 l—:req: 34 radI:ec .A .
230 20 -0 m = 10 10° 10
Real Axis Freqguency (radisec)
Bode
Current Compengatar
[1+0.285) ‘
Cls]= | 108 oo -
’7[ ] z (1 + 0.028g] + F5
Root Locus Editor () COpen-Loop Bode Editor (2
100 T 100 . .
O ———— = — —— — — — —
=0 130 GM.205dB i
. Freg 194 radizec 0 T
Stable loop
L N SOEEES. CEEEELEEREES 200
1]
=0 T} o
! P M. 651 deg
T . : 380 Iireq: 3.95 rad.l’:ec: . )
-100 -50 : 1] a0 1o0- 10 100 10
Real Axis Freqguency (radizec)
— — o —
L, =20.5dB y =65.1 @, =3.98rad/s
3rad/s
o) 108(1+0.28s)
s(1+0.028s)
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_30 2

7.1

M x>a -a

y=<kx [x<a '

-M x<-a
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2
A y
0 X|<a /
y=<k(x—-a) x>a > > x
a
k(x+a) x<-a /
y
3 b
{k(x—asigm'() y#0 - .
=1 . a X
b - signx y=0
a -a
4
4y ry
B b=
- _a o
* a Ll 4
b -——1-h
7.2
¥ (3
R(s) g x v |2 e (s N
T— Hig)
1
X(t) = Asin wt
y(®)
y(t)= A, + D (A, cosnat + B, sinnet)
n=1
y(X) =—-y(-x)
A =0
1 ¢27 1 2
A, = —.[ y(t)cos notd (ot) B, = —.[ y(t)sin nwtd (ot)
g Y0 T Y0

G(s)

y(t) = A cosnat + B, sinhat =Y, sin(wt + ¢,)

109

www . kaoyancas.net




www . kaoyancas . net

>
Il

<
Il

¢, =0

1 2z 1 2z .
—'[ y(t)cos otd (wt) B, = —I y(t)sin wtd (ot)
7 0 7 v

WAL+ B golzarctg%
1

N(A)

i A’ +B/
N(A):Y—Alem :—‘A L Larctg 2t

N(A)

N G(s)
Y()=-y(-X)

G(s)
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_31 2

7-2

y(®)

y(®
N(A)

2

A =0,A, =0(n=123,,),B, =0(N=2,46,)
y(®)

y(t)= ﬂ(sina)t + lsin3a)t + lsinSa)t + lsin7a)t +-)= 4M Z
T 3 5 7 T =

sin(2n + Dot
2n+1

y,(t)= ﬂsin ot
V4

Y 4M

N(A)=—LLp =—

(A A ] 7

N(A) A
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B,

Y 4M
N(A) =L /g =0
(A) A 2 A
N(A)=%:%{arcsin%+%1/l—(%)Z:I (Aza)
Page291  7-1
y = Ly Ly
2 4

A0:A1=0
1 27 1 |

=— — X+ —X")sin wtd (ot
], X X)sinatd(at)
X = Asin wt

1 27 1 1 5. . 122 1 . 1,5 .3 )

B =— — X+ —Xx")sinwtd (at) =— — Asinot + = A’ sin” wt) sin wtd (at
=], Gxepxsinatd (et =— [ y )sin wtd (a)
LYWL
2 16
N(A)=5=l+iA2
A 2 16
1
L '-.".II
i)
M) Wi
o w i)
N(A)=N;(A)+N,(A)
2
t zi) ¥it)
© L w > Ny | — &
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[

/R

N(A):% arcsmi—arcsiné+31/1—(E ? —é 1—(3)2
T A A A A A A

4 .2 .1 2 / 2, 1
=—| arcsin— —arcsin—+ —,[1 — (=) ——
Vs A A A A A

1
1—(—
(A

l

k=2,a=2,A=1
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32 2
3
7-6 7-7 7-8
7.3
0N, LI Y I CE |
I——————— H(s)
N N(A) G(s)
G(jo)
O(jow)
@(jw)zcéqa)): N(AG(jo)
(Jo) 1+N(AG(jo)
1+ N(AG(jw)=0 G(ja))z—ﬁ
—1/N(A)
G(jo) —1/N(A)
G(jw) —1/N(A)
G(jo) —1/N(A)
$Im 4 Im 4 Im
1N
) Re Re
BE TEE
&l ja) el

S1ACA)

YA 6(ga)
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cue) N
G(jw)=-——— G(ja)N(A)=1
N(A)  [£G(jw)+sN(A) =7
G(jw) ‘e
_I/N(A) M, M,
M, A ;
M1 a a G(ja)) >
A
~1/N(A) M,
Ml
M2
A ~1/N(A)
A
—1/N(A)
TN A o G(jo) o
X(t) = Asin wt o)

G(s)=10/s(s+1)(s +2)

J f
'1-“- i) o) &
N(A):ﬂ:i
A A
A
N(A) 4
A=0— o ~1/N(A)
) 10 30 . 102 -w?
G(jw)= - @-o)

jo(jor)(jo+2) o +50°+4 oo +50° +4)
G(jo) —1/N(A)

Im[G(jw)]=0

Im
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2
13(2_602) =0=2-0"=0
o(w” +50° +4)
w=A2 G(jo)
_ 30
e __ 30 | = _1.66
e[ (Ja)):"a):\/z a)4+50)2+4w=\/§
- 1 -
G(ja)N(A) =1 N ©
(jw)N(A) N(A) (e
B . S
N(A) 4
Ao w=+/2(rad /s)
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